(i PROTON

Part Description

Printed parts
Center Holder.stl
Extruder Arm.stl
Extruder Holder.stl
Base1.stl

Base 2.stl

Base 3.stl

Motor Holder.stl
Print bed Holder1.stl
Print bed Holder2.stl
Top Handle.stl

Extruder

Mechanical parts

ATOM 2.5 MK3 with 0.4mm Nozzle (for 2.5)
Upper Hotend Windshield

Extruder Spring v2 (8.5 x 1.1 x 11R x 32L)
Extruder Drive Gear v2 (SUS) with M3-3 Headless Hex
Stepper Motor 42HS48

Steel Print Bed (250 x 190mm)

M3 Spring

Bearings 608ZZ (8 x 22 x 7mm)

2gt Timing Belt (380mm)

2gt Timing Pulley (20 Tooth) with M4-4 Headless Hex
Bearings MR105ZZ

Bearings LM8UU

Copper Sleeve (8 x 12 x 20mm)

Copper Sleeve (12 x 16 x 20mm)

Coupler D20L25

Shaft $12, 295mm

Shaft $8, 295mm

Shaft $8, 250mm

Shaft $8, 300mm

Screw Shaft $8, 278mm (lead of the twist 12)
Screw Shaft $8, 278mm (lead of the twist 4)

Electronics

2510 Back Fan (685mm Green Orange 28AWG)
XYZ Endstop (1200mm Black 28AWG)

Power Switch (300mm Black Wire 18AWG)

DC Connector (300mm Red Black 18AWG)
Capacitive sensor M8*45mm

DC Adaptor + IEC Cable

Quick Wire Connector 3PIN

Wire 200mm Black 22AWG

Wire 200mm Red 22AWG

SD Card

2004LCD+MEGA2560+R3 RAMPS1.4 + A4988x5

Screws, nuts and washers
M2-10 Hex Screw
M3-10 Hex Screw
M3-15 Hex Screw
M3-25 Hex Screw
M3-30 Hex Screw

M5-8 Hex Screw

M3 Nut

M3 Washer

M3 Nyloc Nut

M3-6 Counter Sink Hex
M5-20 Thin Head Screw

Others

Cable Tie Black

PTFE Tube (2 x 4 x 470mm)
Cable Tube (1000 mm)

BHRE

ATOM MK3 158 0.4mm O (2.55 )

LA

PR v2 (8.5x 1.1 x 11R x 32L)

PR v2 (THREE, & 1E1T984 M3-3)

Lt HE 42HS48

FERSBENER (250 x 190mm)

M3 $HeRfhiE S

B 608ZZ (8 x 22 x 7Tmm)

2gt B A (380mm)

2gt FIH#i (20 B, &b R4 M4-4 )

& MR105Z2Z

487 LMBUU (8 x 15 x 24mm)

#h A RHAE (8x 12 x 20mm)

m A BIRE (12 x 16 x 20mm)

EBh%F D20L25

Sedh ¢12, 295mm (#FEF E15mm, BEFM3 10mm)
Fedh 68, 295mm (EEEFE15mm, B M3 10mm)
Se#h ¢8, 250mm (HFEF F15mm, K EFM3 10mm)
St#h ¢8, 300mm (BEZEFE15mm, B FM3 10mm / BEEEF M@ ¢5, 20mm)
TRUZIR 8, 275mm (BF212, 288

TRIRIR ¢8, 275mm (Hi24, 592

2510 %W (685mm i 28AWG)
SEMEIRIRA (1200mm R 28AWG)
TIERIB (300mm B 18AWG)
KEHDCHTF-REE (300mm LB 18AWG)
BERER X0 HRI M8*45mm

DC #E3 + IEC BiRR

HREERE 3PIN

ERA (200mm BE 22AWG)

TR (200mm L5 22AWG)

SD+

2004LCD+MEGA2560+R3 RAMPS 141247 +A49885E B8 x5

WAFERH M2-10
PARAERA M3-10
WAHERH M3-15
PNAA R M3-25
AR M3-30
AR M5-8

M3 218

M3 5

M3 [hER4RE
MEERAF Rk M3-6
SHEENA AR M5-20

AR B
HHEEE (2 x 4 x 870mm)
£42% (1000 mm)

Qty

A a AN AW W NR O NN a2 A A

A 4 s AW s A AN s

Latest Update:2017/03/03

Example Source

https://world.taobao.com/item/40903030936.htm?spm=a312a

https://world.taobao.com/item/20807555431.htm?spm=a312a
https://world.taobao.com/item/38906567928.htm?spm=a312a

https://world.taobao.com/item/45127067074.htm?spm=a312a
https://world.tmall.com/item/43255476847.htm?spm=a312a.7
https://detail.tmall.com/item.htm?spm=a220m.1000858.10007%
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?:
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?:
https://world.taobao.com/item/41888519507 .htm?spm=a312a

https://tradearchive.taobao.com/trade/detail/trade_snap.htm?:
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?:

DPS-90AB-3

https://world.taobao.com/item/44385041914.htm?fromSite=r

https://world.taobao.com/item/43615009274.htm?spm=a312a

NT$250.00

NT$1.90
NT$16.50

NT$74.36
NT$17.60
NT$28.00
NT$5.50
NT$9.00
NT$6.00
NT$176.00
NT$149.00
NT$163.00
NT$149.00
NT$80.00
NT$80.00

NT$78.65
NT$38.72
NT$42.35
NT$12.10
NT$390.00
NT$660.00
NT$7.48
NT$5.00
NT$5.00
NT$104.50
NT$680.00

NT$0.55
NT$0.42
NT$0.53

NT$0.79
NT$0.66
NT$0.07
NT$0.11
NT$0.33
NT$1.08
NT$1.85

NT$0.33
NT$23.50
NT$13.20

Price (NTD) Price (USD)

$8.00

$0.06
$0.55

$2.50
$0.55
$0.90
$0.20
$0.30
$0.20
$5.50
$5.00
$5.50
$5.00
$2.50
$2.50

$2.50
$1.50
$1.50
$1.50
$0.40
$25.00
$0.25
$0.15
$0.15

$25.00

$0.06

$0.80
$0.40


https://world.taobao.com/item/40903030936.htm?spm=a312a.7700714.0.0.93TIzb#detail
https://world.taobao.com/item/20807555431.htm?spm=a312a.7700714.0.0.OzgF3S#detail
https://world.taobao.com/item/38906567928.htm?spm=a312a.7929964.0.0.jcAqub#detail
https://world.taobao.com/item/45127067074.htm?spm=a312a.7700714.0.0.ORTXXJ#detail
https://world.tmall.com/item/43255476847.htm?spm=a312a.7700714.0.0.8CkSE0&sku_properties=122276018:20213
https://detail.tmall.com/item.htm?spm=a220m.1000858.1000725.1.BVG6lh&id=43786792006&skuId=77763957461&areaId=710100&user_id=2335619019&cat_id=2&is_b=1&rn=a0c8a86e6fa057e029a50b4c0bd070af
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?spm=0.0.0.0.nCDPBB&trade_id=1626190112190615
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?spm=0.0.0.0.2TAaoW&trade_id=1318535397850615
https://world.taobao.com/item/41888519507.htm?spm=a312a.7700714.0.0.5vIBRw#detail
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?spm=0.0.0.0.hQlLQA&trade_id=2295286819080615
https://tradearchive.taobao.com/trade/detail/trade_snap.htm?spm=0.0.0.0.hQlLQA&trade_id=2295286819080615
https://world.taobao.com/item/44385041914.htm?fromSite=main&spm=a312a.7700846.0.0.HyjTkA&_u=510av7tiae6d
https://world.taobao.com/item/43615009274.htm?spm=a312a.7700714.0.0.ISIuC3#detail

